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4.3 - 4.5 Classwork * Date Period

State if the two triangles are congruent. If they are, state how you know S§S, SAS, ASA, AAS, or
none.
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State what additfonal informatien is required in order to know that the triangles are congruent for
the reasom givem.
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15 Use the diagram to name the included angle betwesn the given pair

of sides.
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16. {a} Mark the diagram with the information you can conclude.
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{b) List the triangle congruencies.
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(¢) Give a congruence statement (ex: AWBF = ARIT)

{d) State the theorem or postulate used to prove the triangles are cc':rzgru,ent,'
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in the diagram, ABCDE = FGHI.
B

18.

a. Fiﬁd the Vréﬂue‘of x.
b. Find the value of y..

Fxiy =10 Tyed M

17. {a) Identify all congruent corresponding sides and angles of the Fo\llowing figure.
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19. In the diagram, AABC = ADEF.
1. Find the value of x.

2. Find the value of y.
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ATAX = 7 INIEWD

ALX = AGIW. Complete the statement.




Q h © Glven: ZRPQO= £RTS, R isthe midpoint of 55‘

~ Prove: APOR = ATSR

Statements
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o423 Glven: BD bisects ZABC, ZBDA= /BDC
- Prove: AABD = ACBD
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23 Given: T =07, Tl T
Prove: AKLN = AMNL

Statements




